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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed: 1x7=7

foripie Foate R e fra ¢

(a) ‘Assessment Year’ means the period
starting from 1st April ending on of
the next year. (Fill in the blank)

e q Oy txm N el dfEe e
s SR IS T 9 SiFT0! 2N wifacd
SIS | (T 512 279 731)

Contd.




(b)

(d)

(e)

The year in which income is earned is
known as Assessment Year and the
year in which it is taxable is known as
Previous Year. (State whether the

statement is True or False)

B! TS S Be 4 T ©IF L T2 SR
I W (Cferh wF o %% GEY 79)

Under the Income Tax Act, 1961, what
is the status of Dibrugarh University
as a ‘Person’?

ST iz, 1961 PR, e 2ol fEaers
9 W &5 o= e

Tax liability of an assessee depends
upon his/her residential status.
(State whether the statement
is true or false)
T TN JGR Tl (S6F ATZH TR
2 sie F$T w5
(GfeTh! wm (o orom CEd 1)

Agricultural income is taxable under
section 10(1) of the Income Tax Act,
1961. (State whether the statement

is true or false)

IRES w7, SFFg Wiz 19619 10(1)
QRS ey 24| :
(Cf&eh! w5 (7 955 G 91)
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(f)

(9)

Answer the following questions :

Section 48 of the Income Tax Act deals
with income that is exempted from tax.
(State whether the statement

is true or false)

S B2 4 48 (TRAR SN 591 Gioo

@R F9re S|
(Cfechr ©% @ 51o% GEmd 391)

Agricultural land situated in a rural
area in India is a Capital Asset.

(State whether the statement

is true or false)

Ciqede AN GERAS SRAFS PR 1
TS o |((Cl&ch! &% (1 q&% Gl )

2x4=8

oo Al AHERE ©e fordll 8

(@)

(b)

Explain the meaning of long-term capital
gain.

T SErdel s s i

State the meaning of uniform previous
year as per the Income Tax Act, 1961.

S S3H 1961 S (Aol E9S! 9T
w2l 5720 |
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(c)

(@)

Define ‘Assessee’ as per the Income Tax
Act, 1961.

S T2 1961 SFR @y wfes wees
fevatt |
State the meaning of income.

oEE e ot |

Answer any three questions : S5x3=15

Ricwle fofor = Be Bl ¢

(a) Briefly explain various heads of income.
SRS f[fen Fomm@R viie ot 7= |

(b) Explain the manner of determining the
residential status under ‘resident and
ordinarily resident’ in India.
QAR W= AN 1= DS AR
4 Py =2 s 2 w1

() Explain the meaning of ‘income from

other sources’ as per the Income Tax
Act, 1961 with any three examples.

1961 b1 ST Wiz SR Sy BoR
ERIERIRC BES AR Hi o S 8er s 8 B o
forb1 Trizge =t |
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(d) Mr. Anil Barua is the owner of a house
property which is let out by him at a
monthly rent of Rs. 10,000. The
particulars of the house are given below :

fi1. wifvet 9l 951 99T Wifere Rl B T

10,000 5t ©iwl fifks | TaeoE ) Rz
A==l

Municipal

Valuation (MV) Rs. 1,30,000 p.a.
(o1 TR

Fair Rent (FR) Rs. 1,10,000 p.a.
QIRIARI

Standard Rent
under Rent Control
Act (SR) Rs. 90,000 p.a.

ool e S

wfe Faie Sl

Fire Insurance (Sf3qm) Rs. 600 p.a.
Municipal Taxes Paid 10%
iRt

Determine his income from house
property for the assessment year
2021-22, 5)

2021-22 9 R S I PTife =7
fAielel 1|
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(e) For the Assessment Year 2021-22,

Ramesh is non-resident in India. From
the information given below, find out
his income chargeable to tax for the
Assessment Year 2021-22 :

2021-22 F=RE 39 A 00 SiTeazs o
SRR | $ere i3l OE #El, 2021-99
==l 3@ A (e T = Rl w1 -

() Royalty received by him outside
India from the Government of India
Rs. 17,000

CITS beIIT 271 Sives difeTe e 35

(i) Technical fees received from P. Ltd.
(an Indian Company) in Germany
for advice given by him in respect
of a project situated in Dubai
Rs. 2,40,000

TARe SRZS bl 255a AM0a AT R
It P. Ltd (95! SIS @=AN)-F #i=
i 2iY efeste spe)

(i) Income from a business situated
in Sri Lanka (goods are sold in Sri
Lanka, sale consideration is
received in Sri Lanka but business
is controlled partly in Sri Lanka
and partly in India) Rs. 1,40,000
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Aerzio ST TR 41 7 (oo
7% ) 39 =0 o Aeriee K=
e =@, e g gl 9 =
SfRTeIE QTR 29 WF SARFFSIE
wlged #4)

(iv) Income from a busm‘ess
connection in India (it is received

outside India) Rs. 3,17,000

©IIed F90 MYS AT FRAES 29 Al
oY (Tes Aifzge i)

Answer any three questions : 10x3=30
e oot esia Tex fonl
(@) What is a capital asset as per section

(b)

2(14) of the Income Tax Act, 196.1 ?
Describe the procedure of computation
of long term capital gains as per the
provisions of this Act. 5+5=10

ST S 1961-7 41 2(14)-F T09 LAl
A & 2 2 @ iz Rl St e
KA SR Faieel Awfe e o

Sitaram (age 45, resident) is a salaried
employee (salary being Rs. 4}0,000 per
month). During the previous year
2020-21, he makes the following
investment deposits or payments:
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ﬁﬁ\/mm (T 45, A ) qom @oqreian
SR (MM wwg 40,000 51) | 2020-21

81 7o (S Rifist e a1 ST wo
e wee e

(i) Life insurance premium (policy
taken in 2009) on the life of his
married daughter: Rs. 6,000/ -
(sum assured is Rs. 20,000)

(i) Life insurance premium (policy
taken in 2011) on his own life :
Rs. 2,700 (sum assured
Rs. 60,000)

(tii) Life insurance premium (policy
taken in 2011) on the life of his
dependent sister : Rs. 10,000

(iv) Contribution towards recognised
Provident Fund: Rs. 9,000

(v) Contribution towards public
provident fund: Rs. 1,30,000

(vi) Repayment of loan taken from LIC
- for purchase of residential house
property : Rs. 30,000

(vii) Contribution towards notified
equity-linked saving scheme of UTI
(i.e., MEP 2021): Rs. 14,000

Compute his Tax liability for the
Assessment Year 2021-22, assuming

that his income from house pro i
perty 1s
Rs. 2,28 900 i 10
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(c)
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) SRR R (2009 5O @ |l (969
B Zaifzel FUiF AR 6,000 5F (PO
=0 20,000 )

(i) e AT TEET (2011 S (TR
fRfmE 2,700 53 (TS T
60,000 5) |

i) FrowE SN I SR (2011

57 5% el B 10,000 =

(iv) TS SR ff# A 9,000 T

public Provident fund-¥ I

1,30,000 5)

RS oz fefeg @ LIC-

ofql (Tl Ao AR 30,000 B

(vii) UTI-F Notified Equity-linked Saving
Scheme (MEP 2021)-9 Tit3
14,000 B

Se 7E TG 2=l W 2,28,900 Tt 4T,
5021-22 FaET 71 AR 96 FI-49 [

F40 |

From the following Profit and Loss Account
of Sudesh Bhosale (Age 45 years; resident)
for the year ended on 31st March, 2021,
ascertain his Gross Total Income for the
Assessment Year 2021-22: 10

CSPIEE (I 45 =g, M) 31 w16

2021 SIS D@7 oeTS ] STe-
fZo19/F o[ (€I 2021-22 @RI

GO
efq ALY oH e 340 8

(v)

(vi)
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Particulars Amount |Particulars Amount
(") (Rs.) (b%) |(feTel) (Rs.) (5)
Salaries 26,800 |Gross Profits 6,91,000
" 1 e

Bad Debts 44,000 [Commission 36,600
SRR e ;
Prepaid Rent 4,000 |Brokerage 74,000
e &e Sl

Insurance (311) 1,200 [Sundry Receipts 5,000
General Expenses 52,000 iy aife
Al 4o Bad debt Recovered 22,000
Salary to Sudesh Bhosale 1,02,000 |(earlier allowed as
%11 (e fral deduction)

Tl Y GRIR 4 Tald
Interest on Overdraft 8,000 |(W© Fer ()
Tl €7 o Interest on Debentures 76,000
Interest on Loan to wife A9 8Aq9 O
of Sudesh Bhosale 84,000
T (IR B 4R
S5[q9 fFl 7o
Interest on Capital of
Sudesh Bhosale 46,000
T (SMIeTR ridq
5 e
Depreciation
\T)‘;W 96,000
Advertisement Expendi
o a penditure 14,000
Contribution to
Employees’ Recognised
Provident Fund 26,000

RIBIS k|

AR

et Profit
e 4,00,600
Total 9,04,600 |Total 9,04,600
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Other information :

Seflery ©L7 ¢

(1)

(it)

(iii)

(iv)

(v)
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The amount of depreciation allowable is
Rs. 57,000 as per Income Tax Rules

ST ISP S S AR
57,000 ol
Advertisement expenditure includes

Rs. 3,000 being the cost of permanent sign
board fixed on the office premises

i Sae Feldl B T (P2 @6) 4_-

3,000 Tl Gl 4 SEYE (TR

Income of Rs. 3,08,700, accrued during the
previous year, is not recorded in the Profit
and Loss Account

Forw 927 (5IAIS BT W 3,08,700 T FAS-(FTRFEH
fpleie TEEE (T wIR

Sudesh Bhosale pays Rs. 15,000 as
remium on own life insurance policy of

Rs. 70,000

70,000 TR @ Gk Tl ~ifFifoq @siws For!
comTEET 15,000 B8t fRifsrms (T [6%) fRoiest e
facm :
General expenses include Rs. 12,000 given

to Mrs. Sudesh Bhosale for purchasing a
gift for a marriage party of a friend’s

daughter
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(vi)

(d)

(e)

(f)

GG TP FUE [T TR0 Toige T TR AE
NS Jorl SR @A 12,000 591 AR 4954
Ere TFTE (2 ST

Loan was taken from Mrs. Sudesh Bhosale
for payment of arrears of income tax

S o™ (OIS 2131 461 (=R (2fee AT I
sviE fmEE [

Briefly explain the basic rules governing the
deductions under section 80C to 80U of the
Income Tax Act, 1961, 10
SAFE N2 19619 1€ 80CF 7 80U TR®
FEARE 1576 GISS o7 e FRCHwes! 0 41 |

Explain the process of setting off of losses
and their carry forward as per the provisions
of the Income Tax Act, 1961. 10

SINFS W 19617 Rz S @R6ea
setting off WIS (F1REARF carry forward-3 &%
I 4

Write short notes on the following :

5+5=10
woTe MAIRIRT 82/ b5 Grpl foiel -
(i)  On-line filing of returns of income
SIS S SR miREeel

(i) Tax deducted at source
TS 6 T 79
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